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D) )N LZEEMIHEATHBANLIEZNDES(m) H) QA LZEREYI AT IBANLEZDES(m) DRGFHENCHEET HENTED,

HMETHLIYTHOLREENDHDAES SIESBAD T EZD D KRES
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(A) (B) (©) (D) (E) (F) (@) (H) (A) (B) ©) (D) (E) (F) (G) (H)

1) 140.9 1.0 99.4 1.0 - - 14.0 2.8 140.9 1.0 96.7 1.0 - - 14.0 2.8

(2) - - 99.1 1.0 - - 12.3 24 - - 99.1 1.0 - - 12.3 24

(3) - - 92.1 1.0 - - 124 24 - - 92.1 1.0 - - 124 24

( 4) - - 83.7 1.0 - - 9.5 1.9 - - 83.7 1.0 - - 9.5 1.9

( 5) - - 83.3 1.0 - - 9.2 1.8 - - 83.3 1.0 - - 9.2 1.8

(6) 128.0 1.0 98.8 1.0 - - 11.6 2.3 128.0 1.0 96.5 1.0 - - 11.6 2.3

7)) 119.1 1.0 994 1.0 - - 11.5 2.3 119.1 1.0 96.1 1.0 - - 115 2.3

( 8) - - 80.4 1.0 - - 11.1 2.2 - - 80.4 1.0 - - 11.1 2.2

( 9) - - 68.9 1.0 - - 9.0 18 - - 68.9 1.0 - - 9.0 18

( 10) - - 73.6 10 - - 9.9 2.0 - - 73.6 1.0 - - 9.9 2.0
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